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QUESTION 1

Which three actions are valid methods to clear all entries from the Ethernet switching table on an EX Series switch?
(Choose three.)

A. Restart the eswd process.

B. Issue the clear arp operational-mode command.

C. Reboot the switch.

D. Issue the clear ethernet-switching table operational-mode command.
E. Restart the rpd process.

Correct Answer: ACD

QUESTION 2

Host-1 was recently added in the network and is attached to ge-0/0/10 on Switch A. Host-1 is powered on and has its
interface configured with default Layer 2 settings and an IP address on the

172.17.12.0/24 1P subnet. Host-1\\'s MAC address is not shown in Switch-A\\'s bridging table.
What are three explanations for this state? (Choose three.)

A. The ge-0/0/10 interface is not operationally or administratively up.

B. The ge-0/0/10 interface has not received any traffic from Host-1.

C. The ge-0/0/10 interface is configured as an access port.

D. The ge-0/0/10 interface is configured as a trunk port.

E. The ge-0/0/10 interface does not have an associated RVI.

Correct Answer. ABD

QUESTION 3

You have both IPv4 and IPv6 running in your network. You are asked to migrate your IGP from IS-IS to OSPF. The
network must retain OSPF connectivity between all routers. Which statement is correct?

A. You must use OSPFv2 on all your routers.
B. You must use OSPFv3 on all your routers.
C. You must use OSPFv4 on all your routers.

D. IPv6 routers must continue to use IS-IS.
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Correct Answer: B

QUESTION 4

Which three mechanisms build or maintain bridge tables in a switched LAN? (Choose three.)
A. learning

B. listening

C. flooding

D. purging

E. aging

Correct Answer: ACE

QUESTION 5

)
|
+

Area 3.3.3.3

You configure a network according to the topology shown in the exhibit but find that users attached to R7 are having
difficulty communicating with the rest of the network. What are two solutions to the problem? (Choose two.)

A. Configure Area 3.3.3.3 as a stub area.
B. Create a virtual link between R3 and R6.

C. Configure an OSPF export policy on R6 to export routes from Area 2.2.2.2 to Area 3.3.3.3 and from Area 3.3.3.3 to
Area 2.2.2.2.
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D. Connect R6 to Area 0.0.0.0.

Correct Answer: BD
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